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QUESTION 1
The following SAS program is submitted:
data work.accounting; set work.deptl work.dept2; run;

A character variable named JOSCODE is contained in both the WORK.DEPT1 and WORK.DEPT2 SAS data sets. The
variable JOSCODE has a length of 5 in the WORK.DEPT1 data set and a length of 7 in the WORPK.DEPT2 data set.

Which one of the following is the length of the variable JOBCODE in the output data set?
A.5

B.7

C.8

D. 12

Correct Answer: A

QUESTION 2

The following SAS program is submitted:

proc sort data = sasuser.houses out = houses;
by style;

run;

proc print data = houses;

run;

Click on the Exhibit button to view the report produced.
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style bhedrooms haths price
O TN 2 15 20050
3 2.3 79350

4 2.5 127150

2 2.0 110700

RANCH 2 1.0 542000
3 3.0 a6650

3 1.0 89100

1 1.0 34550

SPLIT 1 1.0 65850
3 3.0 94450

15 73650

TWOSTORY ! 3.0 107250
2 1.0 EE2ED

2 1.0 69250

4 2.5 102950

Which of the following SAS statement(s) create(s) the report?
A. id style;

B. id style; var style bedrooms baths price;

C. id style; by style; var bedrooms baths price;

D. id style; by style; var style bedrooms baths price;

Correct Answer: C

QUESTION 3

The following SAS program is submitted:
data work.total;

set work.salary(keep = department wagerate);
by department;

if first.department then payroll = 0;

payroll + wagerate;

if last.department;
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run;

The SAS data set named WORK.SALARY contains 10 observations for each department, currently ordered by
DEPARTMENT.

Which one of the following is true regarding the program above?

A. The BY statement in the DATA step causes a syntax error.

B. FIRST.DEPARTMENT and LAST DEPARTMENT are variables in the WORK.TOTAL data set.

C. The values of the variable PAYROLL represent the total for each department in the WORK.SALARY data set.

D. The values of the variable PAYROLL represent a total for all values of WAGERATE in the WORK.SALARY data set.

Correct Answer: C

QUESTION 4

The following SAS program is submitted:

data work.test;

array agents{4}$ 12 salesl - sales4

run;

Which one of the following represents the variables that are contained in the output data set?

A. SALES1, SALES2, SALES3, SALES4

B. AGENTS1, AGENTS2, AGENTS3, AGENTS4

C. None, the DATA step fails because the ARRAY statement can reference only numeric data.

D. None, the DATA step fails because the ARRAY statement can reference only pre-existing variables.

Correct Answer: A

QUESTION 5

Which one of the following ODS statement options terminates output being written to an HTML file?
A. END

B. QUIT

C. STOP

D. CLOSE

Correct Answer: D
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